EARAROBEEIERT — 2 N— IBISH —F 2019518298 (k) 12m)11IB2H

m74 X42—Ch C2 H#5%—#& (xwlw | mEmml - v ) w8
[A&4£] 1 7 :2,500,000 @ 23 :1,000,000 33 :625,000 4 3#%&:375,000 @ . 5 7 :250,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
K . 44 | LIAESE 1:35.8 1-1-1-1 | 40.4| — 1 501 | REEEZE (11E)
117112 vHIV N R 56.0 (=) 1) |2BRS
R:N— KRR BAZ—=XVULY g—L— - T vIN> - T7—LBERE
N B ses s :37. -3-4- . = siARZEA (I
21111 TFIWRTTAIY 4 32.0 1(387)5 4-3-4-3 | 41.3 4 (43) i
R:VZRB—IZR&— B/LF A
N _ o6 | WO 1:37.5 2-2-2-2 | 41.7| — 2 442 | B2EB— (1)
3|58/ 3vx¥—F74YF 54.0 (7€) o) | EEEE
R/ v T4 B:F-TFT1%-2 (B) A3 -FRL—->a>aEI7
. o 4 5 | FlBEKX 1:37.8 3-3-3-4 |41.6| — 3 471 | FIEFSER ()1108)
40717 R=N)T 56.0 (1 1/2) (=5) )1 25
R:¥>InfO0— B:EHIES HE%E
NV L) A # o5 | EERRA 1:37.9 7-7-5-5 | 41.3| — 13 | 476 | EIFFE (1)
5/8l14| SvEF-RTVT 56.0 (7€) (1) | EIHER
LZFAT—IE BTy — T =letkis
— w C. JbX—=Jb :37. -9-10- . — hnEEs— ()111&)
6 FLTTYE A i 6 So 1(731:5)) 9-9-10-10 | 40.4 5 (m) 2o
b4y B:IA7)enq "HEIT7—L4
. > ZFHERE . -10-12- — Ltk E (J11I6)
; LTIy e > 6| 2 1.(318>.l 10-10-12-10| 40.4 14 tz; &(7@—) ;Eﬁ@%ﬁ
L:a24x2 v ML B:JLARXTIN=h ZREMS
— <5 FREMER : 87— — gEE (1)
8 YeZ A YHETIL s | 7w 1(/3&;; 8-8-7-6 | 41.2 6 zzg;s el
LTANWNTTFY— BV v=TFIXILT SRS
=~ KEHEZ :38. -11-9- . — FIEAER (/118)
9 XAYLTLITL i 5 i 1(318)3 11-11-9-9 | 40.8 8 ;12‘7) e
Lexrind4n— B:xavrr7vJr HEAHAT—T I
2 s 5 | EREE 1:38.5 6-6-7-7 | 41.9| — 9 429 | HEIE— (/11i6)
10/ 5|7 *T7o— 54.0 ) 47 |BAXT
R:xg—Y>riO—x B:Y4—FXx oy b Tr—3 Y F%4
> i i 4 o4 | BNEFL 1:38.9 14-14-14-13| 40.3 | — 12 492 | BBH— (&)
1lgl13 Ex258—TL17 5.0 ® 45 | FHER
LhY/RI4T BT+ /7= FREFH
FHfE— : —13-11- — 1mEtEie (1)
12 9| IREN—F21U— H o4 e 1(.13/92.)0 13-13-11-10/ 41.1 10 (4_723; R
R:A—Y XA x4 B:OREXIZII Evdly RTp—L4
o N N > EFREA :40. -5-5-1 . — \WEE (1
13 NS OECT S > 4 =n 1(450)0 4-5-5-8 | 43.4 7 ig;s )
RIZART—NWoF— BT15FR7 EaK BA
N 4 4 | FEERER 1:40.6 12-12-13-14| 42.4 | — 11 430 | MBEZ (JI1iE)
143|723 54.0 @) © |BEES
RHVRRT 49T BihLLd—H—) H2 0 LHUS
® 1—F—@EBIERL
1T=7r= 12,8,11,(1,6),7,14,2,5,4,10,3,9,13
2a=5F= 12,8,(1,11),6,7,14,2,5,4,10,3,9,13
3=I=F— 12,8,11,1,(6,14),(2,7),10,5,9,4,3,13
40—+ — 12,8,1,11,14,2,7,6,10, (4,5,9) ,13,3
[ N5
B 12 240M 714K 1-12 380M e E 1-7 610M JEE 1-8-12 1,120H
B B 12 110H 8-12 250M e B =i 980M EH 12-1-8 5,510/
1 170 1-8 590M B & 1-12 940M
8 130 B HE 12-1 1,310

ABICOVWTRDTEEERROODE. TR LIV,



